Manuals+ — User Manuals Simplified.

SCANSTRUT SC101 Pole System 1.9m Instruction Manual

Home » SCANSTRUT » SCANSTRUT SC101 Pole System 1.9m Instruction Manual ™

SCANSTRUT

SC100
Installation Instructions

GARMIN l

)

Radar:
SC101/SC102/SC103 / SC104/SC105
SC106 /SC107 / SC109 /SC107-CS/ SC109-CS

2 x Person Install


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/scanstrut
https://manuals.plus/scanstrut/sc101-pole-system-1-9m-manual.pdf

Contents

1 SC101 Pole System 1.9m
2 Planning your
Installation...

3 Documents / Resources
3.1 References

SC101 Pole System 1.9m

Tools Required

Silicone

Large Flat x1
Y =Sy
6.5mm (1/4%) x1
8.5mm (11/32") x1
10mm x2 No 3 Posidriv x1
13mm x2

5mm Allen key x1

Pencil

Pole Top

17103 17101 17108 17101-456
SC101 SC103 SC105 SC107
SC102 SC104 SC106 SC109

17209
SC107-CS
SC109-CS

17420
(2.5m)

17421
(1.8m)



https://manuals.plus/#sc101_pole_system_19m
https://manuals.plus/#planning_your_installation
https://manuals.plus/#documents_resources
https://manuals.plus/#references

Box 1 Contents D 12 HHI}]H]I]

M8 Nyloc Nut
x3 60616

M8 Washer x4
%3
10265 @
Thread Lock 60702

B243 60860 M6 Nylon Washer 17301
MExe0 G}(SSK Slotted x4 SC100 Adjustable Base

————————————————————————————————————————————————————————————————————————————

Box 2 - Contents 60100 - Pole Top Fastening pack
- CANMmm @ @D @ :

60621 60702 60060 60068

| MEx20 Bolt MB Mylon Washer M6 Nyloc Nut  M& Nut Cover :

S . S X il L o SO
19308- 1200mm Deck Strut e
61620 60060

MEx20 Socket Cap Bolt M6 Nyloc Nut

x xd
610635 % @
M6x35 CSK Posi

1200mm

Adjustable 3 TubeClamp = 63002 ™ 60065
Strut Base omm Allen Key ME Washer

x4 :

| -

10462 4

61620
Standoff Plate 25mm (17) Rail Clamp MEx20 Socket Cap Bolt
%1 2 x7

_________________________________________________________________________________________________________________________________________

Planning your Installation...



Planning your
Installation...

Standard Installation

=

j-___""m Rail Standoff to Deck Strut

80° - 100°

Install close to rail bend for
best stability.




® 145

-45°

=

Installation with an extra Deck Strut.

Extra Deck Strut
Part No. Length
19306 600mm
189308 1200mm
19309 1800mm

Requires Extra Deck Strut

807 - 100°




17470

Tx G1620

10462

1747










3x B1620

~dx BOT02

@@ @@,-h-: 60080

|| —

IMPORTANT

SC100 pole systems are only compatible with marine electronics devices as stated in the latest Scanstrut Product
Guide — subject to change without prior notice.

Use of the SC100 pole system with unapproved products, or overloading, invalidates any product warranty.

No liability is accepted for damage caused by incorrect installation.

The installation and assembly must be regularly inspected for evidence of damage or loose parts.

Product has been designed specifically for the mounting of approved marine electronics under normal boating
conditions.

SCANSTRUT

Website: www.scanstrut.com | Email: sales@scanstrut.com | usasales@scanstrut.com


http://www.scanstrut.com
mailto:sales@scanstrut.com
mailto:usasales@scanstrut.com

Documents / Resources

sC100
Installation Instructions

SCANSTRUT SC101 Pole System 1.9m [pdf] Instruction Manual
SC101 Pole System 1.9m, SC101, Pole System 1.9m

References

« S Mounts, Waterproof Wireless Chargers, Cable Seals for Marine and Outdoor Technology | Scanstrut

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/2f27007e07bb78f63598c7ee40a264e01f8f0ca53e1706c734e79f3b9cb37ba9
https://manuals.plus/m/2f27007e07bb78f63598c7ee40a264e01f8f0ca53e1706c734e79f3b9cb37ba9_optim.pdf
http://www.scanstrut.com
https://manual.tools/?p=12305615#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	SCANSTRUT SC101 Pole System 1.9m Instruction Manual
	SC101 Pole System 1.9m
	Planning your Installation…
	Documents / Resources
	References



